Name:
CC Algebra - Function Practice

1)

2)

What is the average rate of change of y with
respect to x from x =2to x =5 when y =x? - 3x?

8 1
A o, E) 4
B) 3 D) 1

The table below shows various values of function f
on the interval [-2,3].

X f(x)
-2 | -16
-1 -3

0 0

1 -1
2 0
3 9

What is the average rate of change of function f on
this interval?

Show your work.

Answer:
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3)  The accompanying graph shows the elevation of a
certain region in New York State as a hiker travels
along a trail.
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What is the domain of this function?
A) {ylosy=12}

B) {x]|1,000 = x =< 1,500}

C) {x|o=x=12}

D) {y]|1,000 <y < 1,500}

4)  The height, in feet, of a baseball t seconds after it
leaves the bat is given by h(t) =-16t> + 45t + 4. What
is the average rate of change of the height, in feet
persecond, fromtimet=0to t=2?

Show your work.

Answer: ft/sec



Questions 5 and 6 refer to the following:

Use the accompanying graph to compute the average

rate of change of function f over the indicated interval:
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5  [6,10]

Show your work.

Answer:

6) [-810]

Show your work.

Answer:
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7)  Given below are three functions f(x), g(x), and h(x).

(A) f(x)=2x*- 4x

X 19(x)
2| -6
B ol s
2110
4 | 14
h(x)
Mo
8
(€) 4 /
2
. [1 x
4 2 __221 4 6

\J

Arrange these three functions in decreasing order
from greatest to least in value for the average rate
of change over the interval -2= x < 4.

Show your work.

Answer:




8)  Given below are three functions f(x), g(x), and h(x).

(A) f(x)=2x-7

X [g(x)
1] -8
B 1710
2| 6
316
‘h(x)ﬂ10 M
LI
\ |/
(0) 4
2
. ‘X

Determine which of the functions have the same
average rate of change over the interval -1 = x = 3.

Show your work.

Answer:

9)
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Which of the following describes the graph shown?

A)

B)

Q)

D)

YA

g
)

\
\

A

o

X< —2X
X
2x2 — x
1
2x2——x
1
x2——2x
X

if x >1
if x <1
if x <1
if x >1
if x >1
if x <1
if x <1
if x>1



10)

Which of the following describes the graph shown?

A)

B)

Q)

D)

YA

(8]

A

1~

f(x) =

x
+
N

X+2

N[= N= N[= N|=

=

Y
if x <-1

if x >-1
if x <-1

if x > -1

if x <-1

X2 -1 ifx>-1

if x> -1

X2 -1 ifx<-1

"><
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Questions 11 through 16 refer to the following:

x2_2ifx <0

For the functionf(x) = ¢ ,2 O <x < 1

2x—1 ifx > 1

find the

indicated functional value:

1) f(1) =

12) f(2)=

13) f(-3)=

19) ()=

15) f(0) =

16) f(-1) =
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1) E
2 5
WORK sHown: 2 =1 {2 _9- (1) 25 _g
Ax 3-(2) 5 5
3 C
4)  13ft/sec
WORK SHown: 21 i@ = #0) _30-4°_26 _
At (2-0) 2 2
5 -3

210)-2©) _3-9_ 12_

WORK SHOWN: [6,10], f(x) =
10- 6 4 4

6 -%
WORK SHOWN: [-8.10], f(q) = 10~ &8 _53-G) __ 6 __
10- () 8 18

[OSEN

7 g(x),h(x), f(x) ORB— C— A

WORK SHowN: & = [~ 1) _16- 16 =Yoo
Ax  4-(2) 6 6
Ay _g)- g(2) _14-(6) _20 _10,
Ax 4-(2) 6 6 3
Ay _h@)-h(D) 8-2 6_,
Ax 4-(2) 6 6
8  f(x)and h(x) ORA and C
WORK sHown: 2 == D _-1-(9) _8
Ax 3-(D) 4 4
Ay _e@)-g(D) _16-(-8) _24 —6
Ax 3-(1) 4 4
Al:h(3)_h(-l) :9_ :§:2
Ax 3-(1) 4 4
9 B 10) C
1) f(1=1
12) f(2)=3
13) (-3 =-29

W fe)=-y

15) f(0)=-2

16) f(-1)=-3



